Brakes
All brake kits include axle, nut and necessary hardware to

E-Line Components

Swivel and R|g|d R|gs (AR R R A e L e | install on swivel or rigid rigs.
_ Dia. | Width | Capacity (lbs) | Height Part # Part # 1
e = read Lock Brake (TBK)
= B — 5-5/3" | RIGAX2ES | RIGAX2ER - TBKAXZE 4" iodels
T () (o B g | on 1250 |6-1/2"| RIGBX2ES | RIGSX2ER TBKSX2E [5" models
(N | \ | R 6" | 2" 1250  [7-1/2"| RIG6X2ES | RIGEX2ER TBK6X2E 6" models
— O 1 g" | 2" 1250 [9-1/2"| RIGBX2ES |RIG8X2ER TBK8X2E [8" models
(—J .
| Total Lock R|gs Wheel| Tread *Load Mount Wheel Face Brake (WFB) WFB4AXZE [4" models
Dia. | Width [Capacity (Ibs)| Height WFB5X2E 5" models
E ‘5%5 4" [ 2" 900  |5-5/8"| 5-7/16" | RIGAX2EST ‘ WFB6X2E |6 models
i) . 2200 gu | on 900 6-1/2"|5-13/16" | RIGBX2EST WFB8X2E 8" models
— \ /ﬁ‘ " 6" | 2" 900 7-1/2"| 6" RIG6X2EST | Not available on 4" and 5"
% -\\ . a" | 2" 900 9-1/2"| 6-3/8" | RIGBX2EST rigid models.
u *Some wheels have lower capacities. See pemcocasters.com/eline for specifications.
Long Pedal Cam Brake 7" (CAML)
[ Wheels Only works with roller bearing models. Fits 5", 6"
i A & 8" E-Line models.
E . o . . 0 . ! CAMXX2L |Comes with custom
el spanner bushing
aked PKT TPU TuM MOP MOR TPD POD C|R (roller bearing required)
Wheel| Tread Wheel Type Standard | Wheel Part # Short Pedal Cam Brake (5") (CAMS)
Dia. |Width Bore (Plain bore) Only works with roller bearing models. Fits all caster sizes.
PolyKat™ Thermo-Urethane 600 1/2" WH4X2PKTP8 ' CAMXX2S [Comes with custom
Thermo-Urethane (Red/Black) 500 1-3/16" | WH4X2TPU19 spanner bushing
Thermo-Urethane (Maroon/Grey)| 500 | 1-3/16" | WHAX2TUM19 (roller bearing required)
Mold-on Poly 800 1-3/16" | WHAX2MOP19
gv | on Mold-on Rubber 400 1-3/16" | WH4X2MOR19
Thermo-Rubber (Flat) 300 1-3/16" | WH4X2TPR19 Hardware (All hardware parts sold per piece, not sets)
Thermo-Rubber (Donut) 300 1-3/16" | WHAX2TPD19 e\ \
Phenolic 800 | 1-3/16" | WHAX2PHNT9 \\\\
Polypropylene HD 500 1-3/16" | WH4X2P0OD19 9
Cast Iron 800 | 1-3/16" | WHAX2CIR19 7 >
PolyKat™ Thermo-Urethane 800 1/2" WH5X2PKTP8 Axle (Zerk) Nut sDanner bushing
Thermo-Urethane (Red/Black) 600 1-3/16" w:5))((22_'|_|'l|”“|:|19 1/2-13x3.75 1/2-13 1/2X3/4 X 2-7/16
N 7 [ 5 19
Thermo- lﬂ{ﬁ;"a”e e e A S eXOPTS AXLEZRKEX2  AXLENUTEX2 SPANNEREX2
€21 | 5u | on [Mold-on Rubber 400 | 1-3/16" | WH5X2MORT9 o
E Thermo-Rubber (Flat) 350 1-3/16" | WH5X2TPR19 '\___/
= Thermo-Rubber (Donu) 350 | 1-3/16" | WH5X2TPD19 ‘f'\'
(-] Phenolic 1000 | 1-3/16" | WH5X2PHN19
= Polypropylene HD 600 1-3/16" | WH5X2POD19 Retaining Retaining
(%) Cast Iron 1000 | 1-3/16" | WH5X2CIR19 Washer (Plastic) Washer (Steel)
t PolyKat™ Thermo-Urethane 1000 172" WH6X2PKTP8 WHLCAPPLEX2 WHLCAPSTEX2
- Thermo-Urethane (Red/Black) 720 1-3/16" | WH6X2TPU19
= Thermo-Urethane (Maroon/Grey)| 720 | 1-3/16" | WH6X2TUM19 %
== Mold-on Poly 1200 | 1-3/16" | WHGX2MOP19 . 9
] 6" | on Mold-on Rubber 550 1-3/16" | WH6X2MOR19 3@ 'l
[—. Thermo-Rubber (Flat) 500 1-3/16" | WH6X2TPR19 . .
en Thermo-Rubber (Donuf) 500 1-3/16" | WH6X2TPD19 Roller bearing Pedestal Flanged Delrin
Phenolic 1200 1-3/16" | WH6X2PHN19 % 1.D. (Use With precision bearing
Polypropylene HD 600 | 1-3/16" | WH6X2POD19 Bushing For % 1.0,) Dbearing % 1.D. (Use With
Cast Iron 1200 | 1-3/16" | WH6X2CIR19 BRGCROLLEX2 BRGPBALLEX2 Bushing For ¥ 1.D.)
PolyKat™ Thermo-Urethane 1200 1/2" WH8X2PKTP8 BRGDELRNEX2
Mold-on Poly 1250 1-3/16" | WH8X2MOP19 —
Thermo-Urethane (Red/Black) | 800 | 1-3/16" | WHBX2TPUT9 Raceway Seals 4 Position
Thermo-Urethane (Maroon/Grey) | 800 1-3/16" | WHBX2TUM19 Upper and Lower seals Swivel Lock
gn | ou [Mold-on Rubber 600 | 1-3/16" |WHBX2MOR19 available on swivel .
Thermo-Rubber (Flat) 600 | 1-3/16" [ WHBX2TPR19 ter models (Sold Lock and unlock swivel
Thermo-Rubber (Donut) 600 1-3/16" | WH8X2TPD19 caster models (So for easy tracking down
Phenolic 1250 | 1-3/16" | WHBX2PRNT9 as sel). Seals are not hallways ¢
Polypropylene HD 900 | 1-3/16" | WH8X2POD19 available for total lock L7
Cast Iron 1250 | 1-3/16" | WHBX2CIR19 models. N/
swvLockx2 ¢
RCWYSEALEX2 N

Double Pedal Floor Locks Adaptable to all types of portable equipment,

Floor Locks Designed to hold your portable equipment in a desired location.
the double pedal floor lock allows for easier

floor lock engagement.
Wheel| Caster | Retracted | Approximate|  Floor Wheel| Caster | Retracted |Approximate| ~Floor
Dia. |Mt9- Ht.|clearance Weight (Ibs) | Lock # Dia. | Mtg. Ht. | Clearance \A'I)gight(lbs) Lock #
FLOCKE40
B" | 6-1/2" 3/4" 3-1/2 FL-5E ™, 5" | 6-1/2" 1" 4 FLOCKE50
6" 7-1/2: 3/4:: 3-3{4" FL-6E 6" | 7-1/2" | 1-3/8" 4-1/4  |FLOCKE60
8" [9-1/2" | 3/4 4 FL-8E 8" [9-1/2" | 1-1/4" 4-3/4 |FLOCKE80

128



